B EHEIHBEMRE 13-

gl X M % ik R TR E R o7 s =
U [ H > H > if]
FAH BHE ik B fenkte mpagy DAERORES OMER o
il 0 | 864,440 753,173 70,468 568,394 0 0| 43,274 |= &t 2,299,749
1| R6.4.12[JRE652024F = FHIRI{L A 24,350
2| R6.5.8| 520244 BN AT 1L 7 BAL B N A 51,471
3| R6.4.25|Mi7—7, =T NE AFT SR 1,376
4 R6.5.6[fE R NV _— =24 LHE AT AR— LU AR RFNE 1,746
5| R5.12.6|=~— /—FafA~11H%y TN — )—h 4,650
6| R5.9.26|{Canvad H ~8H %y Canva apple 5,000
7| R6.4.28|4 H S REH fE A% 2 —RRE (KF) 3,940 |#47k01/3
8| R6.5.30|4H 4y APEERIAAE FH ) PR o —H— % 118,800
9] R6.6.21|iPad3—AR —RiE AT amazon 16,988
10| R6.12.23| 7V Z A 74X St r~& 5% 36,963
11] R6.6.14| 7—F Xz H AKHPGINotebookPC Tuy A NT A T T 52,140 oy kel/2
12| R6.6.14[PCIEER (7 )L A/ SAK —2E) Ty AN A T T 171,380
13| R6.5.21|iPadsF—7h — ik A E LibertyRshop 5,200
14]  R6.5.23|5 8 5 BREH PINT AT 4TSS 2,763 [#4yHi1/3
15|  R6.6.24[6 A 5 BREHE PINT AT 4TSS 4,270 [#4yHe1/3
16[ R6.7.25[7 A /5 REHA PN A MG 4SS 3,818 [#%7kh1/3
17| R7.1.25|RGEH AR AT 42 7B AR HIX) IMOMOWE 19,600
19| R6.8.31|#rRAkEHeE NP 1,934
20| R6.7.23| 125 IR B fk — LR v AR R AR L2 1,200
21|  R6.8.30|/Sk/LHE AL AN SRk 7,920
22| R6.7.19|7Vv 7R —RE AN AT ST 1,207
23] R6.7.17|A Vi N2 B RIERT v/ AT EY 3,078
24|  R6.8.8|/r—7 /LEE AT B SH <~ T % 3,828
25|  R6.8.29|~— A —hUy V4 ML amazon 37,980
26 R6.9.30[fRER2WHE 75,580
27  R6.9.30[fRE2HHE 75,580
28] R6.9.30[fRER2WHE 75,580
29[ R6.9.30[fRE2WHE 75,580
30 R6.9.26|Canva9 H ~3H %y Canva 6,383
31| R6.11.26|)ARkEEFIMIS e EIR 62,700
32| R6.9.30]19 H 4y i ek pN(dpin) ] 1,934
33| R6.9.30|9 H 2 REH HE AL 2 —RRE (KF) 5,000 [#257E01/3
34| R6.10.22|10 H 23 REHT PN A MG 4SS 4,283 |##4yHe1/3
35| R6.11.29|11H 2Rk PN A MG 4SS 4,200 |##47He1/3
36| R6.11.29|57—7 - GE L AFT SR 3,355
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< N S HIE R TR E R oM s =
s U [ H > H > i)
FAH BHE ik B fenkte mpagy DAERORES OMER o
il 0 | 864,440 753,173 70,468 568,394 0 0| 43,274 |= &t 2,299,749
37| R6.11.6|=7 w7 77V 14,900 oy He1/2
38]  R6.7.26|7H /A — 2k} PegRY — AR At 8,415 oy He1/2
39| R6.8.26|8 A /i) — 2kt PegRY) — AR At 8,415 oy He1/2
40| R6.9.26|9 H 5 EHE) — Ak PegRY — AR At 8,415 oy He1/2
41| R6.5.20{5 A 7y R5F smikskt Yoa—y SR 5,472
42 R6.7.22|7 A 53 RSF sk Yoa—y U R 3,300
43 R6.9.10{9 A /3 R5F skt Yoa—y SRS 3,300
44| R6.10.16|10 H S f5F skt Yoa—y U R 10,411
45 R6.10.21[11 A /0 4%-TF ikl Yoa—y SR 3,300
46| R6.12.19|JAHEERAT 1 7k} e A 17,133
47] R6.11.27|11 A /B ok — 2kt PegRY — AR At 8,415 oy He1/2
48|  R6.4.27|4 H S PRSE R Yoa—y U R 3,300
49| R6.11.24| AL 7l NE A AV ) ARRASAL 3,028
50 R6.12.6|m— —FaH ~12A1 %y TN — )—h 3,100
51| R6.12.11 /\"y:z‘/%}ﬁ%éf% Ty AT T I 28,875
52| R6.10.23|~7 A/ XK amazon 899
53] R6.12.6|UVATYLA~AT amazon 19,184
54| R6.9.21| AT~ NTH S H— amazon 799
55| R6.9.21|HAT~T b amazon 1,399
56| R6.12.20| /57520255 5 HIRIR A 38,290
57| R6.12.21]Insta360go3s Insta360 29,600 4y e1/2
58| R6.12.21|~A 27 1aSDA— R4 it Insta360 31,120
59| R6.10.21 |4 [E =3RRI A~9 H 5 N U e 4,200
60| R6.10.21 |4 [E =3RRI A~9 H 5 B ON U T 4,200
61| R6.10.21 |4 [E =3RRI G4 ~9 H 5 B ON U T 4,200
62 R7.1.17[JEFH, SCE. ARAT SO 3,972
63| R7.1.17|3CE. 7!<7Hﬂ%% 1,184
64|  R7.1.10|55 1911 UM - eI i i 200l U 66 1 it 41,480
65|  R7.1.10| 55 191U - eI i e 500k Wl 65 1 e 41,480
66| R7.1.24|5HEE2025F B AR AT 40 VBT E} H%itééfft\:yh“{ii%‘i 51,333
67 R7.2.4|USB/—7 )L 77 —~v—k 1,551
68| R7.1.30[fR£=2WHE 119,790
69 R7.1.30[fR£RWHE 119,790
70| R7.1.30|fREMHE 119,790
71| R7.1.30|fREMHE 119,790
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> i @ m (1)

2 2 o % i TR WE EF B e ZoM

HER | ik B ERE BEAE - i 2
H 64,440 | 753,173 | 70,468 | 568,394 43,274 |= &at 2,299,749

72| R6.12.27|12 7 /3 PRSF S kvkt Yoa—y SR 6,600

73| R7.1.28|1 H ALY — 2k} PEgRY) — AR A4 8,415

74| R7.3.4|2H DAY — 2k} PEgRY) — AR A AL 8,415

75| R6.12.30|12 H 5y REHE FE YA (BR) 5,000 [#%

76| R7.1.31|1 H 5 REHE FE YA (BR) 5,000 [#%

77 R7.2.10|2 H 5 REHE FEYEA I (BR) 5,000 [#%

78| R7.3.21| & [FEEEH B SR 10~3 H 4y AR AR 4,200

79[ R7.3.21| & [FE B GEN10~3 H 0 A AR 4,200

80| R7.3.21| & [E ¥R FTE 10~3H 4 AR AR 4,200

81| R7.3.31 |1 EI4~3H 4 () P TR 57 AT 4 T 40,200

82 R7.2.28 /\"y:z‘/%}ﬁ%‘g% Ty AT T e 48,895

83| R7.1.31|ARxIXFHE4H ~1H %> AT =S4 59,400

84|  R7.1.31|AMEEH T VEAEIRIL et XU A 181,500

85| R7.1L31AMEEH TR AT 47 HE ey AN = 62,617




